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Multiple choice questions

1.  In the context of the Ricardian model, suppose that country A has absolute advantages in the two goods, X and Y, but a bigger advantage in good X. In this case, the gains from shifting the production of 1 unit of good Y from country A to country B, and shifting  the production of 1 unit of good X the other way around are equal to:

a) The difference between A’s advantage in good X and B’s disadvantage in good Y.

b) The sum between A’s advantage in good X and B’s disadvantage in good Y.

c) The difference between A’s advantage in good Y and B’s disadvantage in good X.

d) The sum between A’s advantage in good Y and B’s disadvantage in good X.

2. If closed to trade, each country produces 10 units of each good and unit costs are given by:



Milk
Cloth

Country A
10h
10h

Country B
80h
20h

There are economies of scale. 

We can say that the transfer of the production of 10 units of milk from country B to country A and the transfer of the production of 10 units of cloth in the opposite direction will save:

a) 600h.

b) Less than 600h.

c) More than 600h.

d) More than 800h.

3.The following table indicates the hourly productivities in each good in the North and the South of Europe:



High Tech (HT) Low Tech (LT)

South
 
 5

 2

North


10

 10

The relation between the Northern wage and the Southern wage is fixed at 6 forever. In this case:

a) There can be trade in the short term but not in the long term.

b) There can be trade in the long term but not in the short term.

c) There cannot be trade neither in the short term nor in the long term.

d) There can be trade both in the short term and in the long term.





True/False questions

The following table indicates the number of hours needed to produce each good in the North and the South of Europe



High Tech (HT) Low Tech (LT)

South
 
12

 9

North


 3

 3

The Northern wage is 3.5 times higher than the Southern wage.

Your answers to the next eight questions should be based on the information above.
1.The South’s hourly productivity in HT goods is 12.

2.The South has absolute disadvantages in both goods but a comparative advantage in HT goods.

3. Suppose that the North exports one HT to the South and imports one LT from the South. In that case, the two countries together will be able to produce one HT and one LT with three fewer hours than without such trade.
4. The numbers in the table above result from the fact that the North and the South do not use the same technologies in the production neither of high tech goods nor of low tech goods.

5. In the South, the opportunity cost of one LT good is equal to 4/3 of a HT good.

6. Suppose that the North exports 1 HT good to the South, and imports a certain quantity of LT goods from the South. In that case, the two countries taken together will be able to produce the same quantity of HT goods and produce 1/3 of a unit more of LT goods.
7. The North is more productive in both goods. Despite of that, the South may be able to produce one of them at lower unit costs.

8. Because the Northern wage is too high in relation to the Southern wage, the North will not be able to produce any of the goods at lower unit costs.
….

9. Consider two goods, A and B. Everything else constant, the higher the hourly productivity in good A is, the bigger is the opportunity cost of good A.

10. In the context of the Ricardian model, suppose that one of the countries has absolute advantages in the two goods, A and B, but a bigger advantage in good A. In this case, the gains from trade are bigger the smaller is the advantage of that country in good B.

11.In the context of the Ricardian model, suppose that one of the countries has absolute advantages in the two goods, A and B, but a bigger advantage in good A. In this case, the gains from trade are bigger the smaller is the advantage of that country in good A.

12. Internal economies of scale occur when an increase in the quantity of labour used by a company leads to a more than proportional increase in its output.
13. External economies of scale occur when the concentration of many businesses of unrelated industries in the same location leads to a reduction in the unit production cost of each business – even if they remain small.

14. The informal exchange of technological knowledge between professionals and businessmen of different companies located in the same area leads to internal economies of scale.

34.In the context of the HO model, imagine that in a country there are two types of inhabitants – owners of the scarce production factor and owners of the abundant production factor. In autarky, the typical per capita income of the owners of the scarce factor is higher than the inhabitant than the typical per capita income of the owners of the abundant factor. We can say that trade increases the income inequality within the country.
35. When the output of a country’s industry that serves the domestic market increases over time, the price of the good may fall and its quality may rise in a self-sustained way.

36. An Import Substitution Industrialization in a certain good is all the more advisable the more the sector that produces that good is subject to internal and external economies of scale as well as ‘learning by doing’.

37. In a model with two countries and two factors of production (capital and labour), if the production technologies of the two countries are identical there will be no trade.

43. In the HO model, in country A trade raises the production cost of the good that is initially more expensive in country A than in country B.

Inf Ind Arg

7. If there are internal and external economies of scale as well as ‘learning by doing’, the country that specializes in the good may not be the one with a potentially lower price-quality ratio.

8. An Import Substitution Industrialization in a certain good is all the more advisable the more the sector that produces that good is subject to internal and external economies of scale as well as ‘learning by doing’.
27. When the output of a country’s industry that serves the domestic market increases over time, the price of the good may fall and its quality may rise in a self-sustained way.

36. One of the objectives of the Infant Industry Argument is to explain intra-industry trade.

44. Import Substitution Industrialization strategy is as suitable for a Less Developed Country (LDC) with a small domestic market as it is for a LDC with a large domestic market.

45. It is possible to argue that the selection of the industries in which a country should invest should be taken by private businessmen and not by the government.

46. It is possible to argue that the selection of the industries in which a country should invest should be taken by the government and not by private businessmen.

Trade policy

9. Consider an industry in which the intersection between the supply and the demand curves occurs at a price above the international price. If the country’s government allows free exports and imports, that industry will become an export industry.

10. Consider a small country. A tariff on the imports of shoes increases its price in the domestic market. In this setting, the entire losses of consumers translate into increases in the profits of domestic producers and in the government revenue from the tariff.

11. Consider a small country. A quota on the imports of a certain good and a voluntary export restraint (by a foreign country) lead some consumers choose not to buy some units of the good for which they would be willing to pay more than what they cost to produce in the rest of the world.

16. Consider a small country. A tariff on imports and a subsidy to exports have a common consequence: they benefit the domestic producers at the expense of the domestic consumers.

17. Consider a small country. A subsidy for each unit produced by the firms of an industry which competes with imports benefits domestic producers at the expense of the government and of domestic consumers.

37. A subsidy to exports and a quota on imports lead both to an immediate decline of supply below demand in the domestic market.

40. A tariff imposed by a large country on the imports of a certain good reduces its price in the international market. Hence, we cannot say whether the tariff reduces or increases the price of the good in the domestic market. 

41. Consider an industry where the autarkic equilibrium price is lower than the international price. If the government of the country liberalizes both exports and imports, that industry will become an import-competing industry.

42. A quota and a tariff may have the same effect on the quantity imported of a certain good. If this is so, the mechanism that will make the price change in both cases will be the same.

43. Everything else constant, the impact of a tariff on the imports of a certain good on its price in the domestic market is greater in the case of a small country than in the case of a large country.

Economic Integration

20. A Free Trade Area may lead the participating countries to replace the imports from countries with lower unit costs by imports from countries with higher unit costs..

21. A Free Trade Area may lead the consumers of the participating countries to pay higher prices for some of the goods that they import.
26. A Free Trade Area between the EU and the USA will soon be created. Therefore, it is possible that Portugal will divert its imports of some goods from the EU produced at lower unit costs to goods produced in the USA at higher unit costs.
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